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(11x+5)* =11- f(x) mod N
f (x) =11x* +10x—-5066, C = (5°—N)//11=-5066
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(237%61*104)% = (2*5*112%19%*41)?
542022 = 40803° mod 55751
N
GCD(54202+40803,55751) = 283
GCD(54202-40803,55751) = 197
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2 N=55751
(226*193*39*126) = (2*5%*11%*17*29)?
320082 = 23743 mod 55751
32008+23743=55751

) 4,13
2 N=55751
(193*137)2 = (2*11*29%*41)?
264412 = 26158 mod 55751
N
GCD(26441+26158,55751) = 197
GCD(26441-26158,55751) = 283

@) 1,4,6,10,14
2 N=55751
(314*193*149*27*181)* = (2**5°*11%*19*29*41*61)*



46855° = 28140° mod 55751

N
GCD(46855+28140,55751) = 283
GCD(46855-28140,55751) = 197

(5) 1,2,4,6,10,15
2 N=55751
(314*237%193%149%27%236)% = (2¥*52*11%%19*29%41*61)>
468552 = 28140 mod 55751
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(6) 3,5
2 N=55751
(226*182)2 = (5*11%*17)?
411322 = 102852 mod 55751
N
GCD(41132+10285,55751) = 197
GCD(41132-10285,55751) = 283



